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Directions: Choose the best choice (a, b, c or d) and then mark it on your answer sheet. 
 

1. Their …………. of our plan made us happy. They agreed that we continue our project. 

 a. compensation  b. acceptance  c. adjustment d. transaction 

2.The two countries made a big ……….. they buy and sell each others’ industrial products. 

 a. bargain b. insurance c. settlement d. employment  

3.You must not infer that silence is always a sign of ……….and approval. 

 a. contrast b. intention c. proposal d. consent 

4.An agreement which is approved and signed by the parties is called a……………….. 

 a. feature b contract c. uniformity d. condition 

5. A new tax is imposed for agricultural transactions. 

 a. covenants b. oppositions c. ceremonies d. provisions 

6. Because of his hard working, the boss decided to …………a good reward to him.  

 a. avoid b. reduce c. confer d. govern 

7.The…………….must deliver the goods as required by the contract. 

 a. purchaser b. murderer c. employer d. vendor 

8.He…………… in the court  that ten million tomans was stolen. 

 a. delivered b. rejected `c. claimed  d. regulated 

9.Their Final…………….ended to an agreement to withdraw their troops to their international 

borders. 

 a. expression b. payment c. currency d. negotiation 

10. A contract will be…….. by performance. 

 a. discriminated b. guaranteed  c. discharged d. campained 

11. A warranty is…………….. to the main purpose of the contract. 

 a. protective  b. subsidiary c. inadequate d. original 

12. To improve our goods, we need our …………feedback. 

 a. protectors’  b. consumers’ c. operators’ d. dealers’ 

13. Despite women’s effort to gain their rights, they are still……….. from important positions.  

 a. excluded b. corporated c. transported d. concluded 

14.This work is not a genuine antique. 

 a. artificial b. essential c. damaged d. authentic 
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15. If the sum is held to be a ……………., the clause will be ignored by the court. 

 a. penalty b. guideline c. decision d. threat 

16. He affirimed that he will tell the truth. 

 a. managed b. produced c. ratified d. confined 

17. Iran and other neighboring countries …………….. most of the oil of the world. 

 a. supply b. require c. calculate d. constitute 

18. A/An…….. is one who has attained the legal age of majority. 

 a. relative b. arranger c. contractor d. adult 

19. They decided to break up the………….. and each worked independently for himself. 

 a. majority b. partnership c. reduction d. capacity 

20. The effect of frustration is that both parties are …………… of contractual obligations. 

 a. appealed b. transferred c. relieved d. injured 

21. After the accident he couldn’t walk . He is really a disabled man. 

 a. handicapped b. handicraft c. adequated d. qualified 

22. Because it was proved that she was…………….  . She was sent to a mental hospital. 

 a. liable b. incompetent c. insane d. certified 

23.The company decided to take back all its…………. and faulty products. 

 a. perfect b. defective c. principal d. accidental 

24. A fiduciary relation exist between a trustee and a………… 

 a. beneficiary b. obligation c. consumer d. instrument 

25. If only one of the parties is mistaken, the mistake is………….. 

 a. identity b. location c. origin d. unilateral 

26. Our ………are students, so we receive a very small rent from them.  

 a. judgements b. tenants c. exceptions d. assumptions. 

27. No body should be ……….of his or her civil rights . 

 a. defined b. deprived c. expired d. determined 

28. Contract disputes were resolved by reference to Iranian law. 

 a. conflicts  b. agreements c. processes d. evidences 

29. The company declared that everybody who is not satisfied with its product it may ………his money. 

 a. refuse b. return c. refund d. resist 
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30. The guilty party should pay compensation for money to the …………… . 

 a. performer b. authority c. accused d. claimant. 
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